Fiche n°10. Dérivation
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Corrigés
10.1a) On calcule : f'(x) = (22 + 3)(22 — 5) + (¢° + 3w+ 2) x 2 = 627 + 20 — 11.
10.1 b) On calcule : f'(z) = (3z% + 3)(2® — 5) + (z° + 3z + 2) x 22 = 5z* — 62° + 4o — 15.
10.1¢) On calcule : f'(z) = (22 — 2) exp(2z) + (z° — 2z + 6) x 2exp(2z) = (22° — 2z + 10) exp(2z).
2
10.1d) On calcule : f'(z) = (62 — 1) In(z — 2) + (32° — ) x — = (6z —1)In(z — 2) + 3z _729:
10.2 a) On calcule : f'(z) = 5(z* — 5z)* (22 — 5)
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Fiche n° 16. Systemes linéaires

Réponses
16.18) i {(3,1)} 8 {(2,-1,3)}
16.1 D) e {(7,2)} 16.4Db) .o {(—1,4,2)}
1 2 16.4 C) oot
16.1C) oo -z )
33 O
16.4d).............. {(—?—2,7,2);26}1%}
2 V2
16.1d) ..o \/—_i
16.5 8) o v 1>, -
16.2 a) {<1a 1+3a>} | {( 22>}
Sy 472 8 16.5 D) et
16.2 D). (2,-3)|  16.5¢) ... [{(52,1-42,2); z € R}|
1 b) 2 3 1 1
16.2c¢c)........... — —a? —a— —d? Dd) e —_—

6.2 c) {(13 EEERRNTY 13a>} 16.5 ) {(1’a+2’a+2)}
16.2d). ... (a— 2(12,(1 + a2) 16.6a) . oo.vniiiii {(5,3,-1)}
16.38) ... | {142 —22);z € R} | 16.6b) ...
16.3 D) ceveeeeieiiii [{(Ly3+2)weR}|  16.60) {<a2+a—l 0> —a-1 —a2+a+1c>}

a3—1 7 ad3-1 7 a3-1
13 5 1 4
16.3¢)......... {(g —35 73t 3% Z>;Z € R} 16.78) oo {(0,0,0)}
_ _ 16.7b) ... {(z,y.—z —y); (z,y) € R?}
2 ) ) Y )
16.3d)...... {<x71_25_gx’2_45_£x>;x6R}
16.7¢C) e |{(z,z,z),z€R}|
Corrigés
16.1 a)
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